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Measurements

Measurements Value
mean signal (mean) 15758
Signal to Noise Ratio (SNR) 2625
Signal to Fluctuation Ratio (SFNR) 250.0
Percent Fluctuation 0.06
Dorift 0.45
Radius of Decorrelation (RDC) 1.2
Mean Ghost Percentage 2.138
Standard Deviation (std) 0.89
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Smoothness - X

Smoothness cFHHMY in mm - ¥i [min mean maxl] = [2.887 2.168 2.2421
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Smoothness - Y

Smoothrness CFHHMY in mm - ¥& [min mean max] = [2.385 2.442 2.5HG]
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Smoothness - Z

Smoothrness (FHHMY in mm - 2% [min mean max] = [1.537 1.916 2.8551]
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Center of Mass in mm - Y& [maxdisplacement driftl = [B.B22 B.868%5]
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Gho=%t mean percentage

Ghost

Mean of ghost wvoxels as ¥ of non-ghost [masked] mean
(ghostmeans brightghostmean? = (2.138, 5.728)
Clower is better)
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